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GENERAL KNOWLEDGE
1) forgon i wpirr falu s SEgr (i) mper St &7 _—
' ;Aﬁ) . sl (3) faferm ve PAaRIPAE
() i Al () 1HT _
Who is considerod 10 ho [ho orlginator ol tho projocl molhod in teaching
(A) Prol. Armstrong @) Willam Hoard Kilpatrick
(D) Socratcs

(C) John Dowaoy

Cruaferfera 1 @ -2 e e i1 W el g7

2
(A) ¥ T o (B Teafeaes 1vAeim
(C) Al T (D) Pl Tk
Which of tho following is not a 1ypo of non-varbal communication ?
(A) Eyo conlacl (B) Wrilten cornmunication
(C) Voico signal (D) Tactilo contacl
@ Cap a5 e 3 2o WA wL U rar-aeran’ @1 & e _
(A) HElT \(‘[){;ﬁ‘iﬁfl'ﬁ; 4 (C) 30! Yol (D) U U7l
Which Slate Governmenl gave stalus of '‘Rajya Mala — Gomata’ [0 indigonous cow 7
(A) Maharashlra (3) Chhaltisgarh (C) Utlar Pradesh (D) Madhya Pradesh
@. ared ok fapn e W gai sl Jipigs B3 o D 7
(A) sitfemm (B) HIH (C) W “0) wHETg
Which State of india s the largest producor of Bauxite 7
(A) Odisha (B) Karnataka (C) Jharkhand (D) Chhattisgarh

@ oafdar i ) d)ua, o A 7

(A) At wigaz Aeak 7[(5) T+ 7 ufeTd Jeadh

(C) a5 urgaz A7 Jof Afterez wrgde eadh
[x] 7% (=] M
)<z What does ‘VPN' stand for in networking 7
[:1775% (A) Variable Privale Network (B) Virlual Public Network

(C) Virtual Privato Network (D) Verifiad Private Notwork

/@ fqfarfera i @ #-m v i mafas 22 duw R iy @27

) mfeen wiar (B) HAHW (C) BRI (D) STt
Which of the following Is not a melhod of primary data collection in research 7
(A) Literalure roview (B) Surveys (C) Interviows (D) Observalions
(7) faefafaa i 7 #-H My A fafa 76 8 7
(A) FAHOT -[(B) ofarifas AMICE TN
:’il;lcg of the following is not a method of research 7 ) O) {
urve
y (B) Historical _ (C) Philosophical (D) Observation
’8) fafafaa i 4 ®¥-m vw vma w1 5w g=om @ 7
(A) vy B) =
ikt ot ot p oty < e
. (B) Chennai (C) Cochl
n (D) Kandla
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ufireras ©@d & dAlad F R
(A) SATHTITA : (C) wgww (D) cT&E!
Which new drug, approved by the FDA in 2024, to slow the progression

of Alzheimer’'s disease ? targets amyloid plaque in the brain
L -
(A) Lenacapavir (B) Kisunla (C) Aducanumab (©) Legambi

HTawfae ard-%Is &1 I9ANT Fd AT, .
OQA)mﬁﬁImmmmamafi TN T2 ¥ Ry srguifia anam #4012 7

B TR FAFE I UFRT FA F fore o i
X©) T et s % waeter ardl aw wey
(D) AU & FTY 39AT FHAGIH AIEH H

When using public Wi-Fi, what is a recommended : —
#(A) Disable all security settings practice to enhance securty

(B) Use a VPN to encrypt your connection
(C) Access sensitive account without any restriction
(D) Share your connection with others

Praffas 3 & fR 1938 3 BT 5= O 3w 3 35w il T HER T ST 7

Who among the following was elected as President of lhe Indian National Congress after Subhash Chandra

Bose resigned in 1938 7

(A) Annie Besant (B) Jawaharlal Nehru (C) Vallabhbhal Patel ERE
@ @_.aa;@-nasmgﬁ%aﬁﬁqmqﬁﬁ%ﬁﬁnm@ﬁﬁ“ﬁmw %%E
T - | e -

a b - d
A) | I | vV .
. B VA e [
LC) 1M IV I
(D) | IV 1] | o
E‘%&% Match List — | with List — Il and select the correct anSWfr ftror:'; the code given below the lists :
' ist - ' ist -
- a. atldsatm 'Srnilh . The Wealth of Nations |
b. Thomas Malthus Il. The Theory of Economic Growth
c. W.A. Lewis ll. Impenalism and.Ur!equm Deve!oprpent
d. Samir Amin ~ . |V. Essay on the Principles of Population
Code:
a b c d
(A) | [} | v
(B) | Vv | I
(C) i I Vv I
(D) | IV 1l ||
o390 44
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(A) BT Heg (B) ¥ M ©) A=h wmh (21 T ST,
Who among the following is Youngest World Chess Champlon ? _
(A) Sanjay Malhotra (B) Manu Bhaker (C) Nancy Tyagi (D) Gukesh Dommaraju
‘arefta ' ) wae e A2
~{A) ETH 2= gEEdl \JB)/£13|1 y Aigd T
HC) T} faasm= (D) TuT &I &9
Who founded the 'Atmiya Sabha’' ?
(A) Swami Dayananda Saraswali (B) Raja Ram Mohan Roy
(C) Swami Vivekananda (D) Radha Kant Dev
@ }:?azmgﬂa:ﬁmmﬁwﬁﬁmaé ?
Ere g (B) zla3 (C) AR (D)Eﬂflﬁﬁﬂﬂﬁi%ﬁ
In which style are the temples of Bhubaneshwar and Puri built ?
(A) Vesara (B) Dravidian (C) Nagara (D) None of the above

F1g) s ¥ fow wer % wewdt @ e wiifa afga 1 R R 2
a’ Eis §I
b. =9 &1

+d. Tafd g vt wei @

i ﬁ:q m fareai 4 | el I ﬁﬁQ -
(A) &9 d (B) Fae a3 b
Je) e a | (D) FAd a, b 3R d —
The Eslimates Committee is constituted from the members of which House of Parliament 7 u&
a. Lok Sabha =755

b. Rajya Sabha 1
¢. From members of both Houses

ERE d- From members nominated by the President
Vv&g Choose the correct answer from the options given below :

[el7=z (A) Onlyd (B) Onlyaandb '
(C) Only a (D) Onlya,bandd

fafafiga 8 & sF-w1 21 4 yregers gearss i a3 & 2

(A) BT F! 376! arehd I FreifEl I 9z § neg w2
BT urguwd % 37a 4 U WoH w1 & fod smaitaa e sen 2

(C) dr@+ # gur & fou ada wfafsrar wem s

(D) WiErR! ! GUR F1 avdFa I A1+ a0 giaa Far 2

Which of the following is not a characteristic of formative assessment in teaching 7

(A) Helps students to identify their sirengths and weakness
(8) Conducted at the end of a course lo assign grades

(C) Provides ongoing feéedback to improve learning
(D) Informs instructors about areas needing improvements
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(1) T s 3wk # Prerferfery i @ - e w7
(A) T T Juficarl w s R w  aiER 2 |
%(B) Fafer st gro & s @

ara’ Y q¢ Faa g Ay & R i e 2 |

!é]ﬁ'l;i: Which of the following sla!?menfs about the Election Commission is true ?
(A) It has the authonty to disqualify the candidates.
(B) Itis appointed by the Prime Minister.
(C) Itis a permanent body that can not be dissolved.

(D) It only operates during election period.

wia 1 g=refia e sftfam 9 ailita gan 2
(A) 1980 4 (B) 1968 3 “C) 19727 (D) 1986 1
When was the Wildlife Protection Act passed in India ?
(A) 1980 (B) 1968 (C) 1972 (D) 1986

wfirr fafiradn SRaafin 2024 Fwifa 6w

(A) g | (8) 8T A ey fare (D) T |
Asian Billiards Championship 2024 was organised in
(A) Mumbai (B) Tehran (C) Riyadh (D) Dhaka
3517 T 2025 - 261 rg Us9 § ‘TEE 218’ @l a3 # v e T R 7
(A) IR T B TaER
(C) T 3R HER (D) 3% WS

In Union Budget 2025 - 26, ‘Makhana Board' is proposed to be set up in the State of

(A) Uttar Pradesh (B) Bihar
(C) Jammu and Kashmir (D) Andhra Pradesh

@ sftq g A aftreTg 3 27 aTelt Ayl F1 YER TR 7
\W/ HIEA14 (B) via Swadi™
(C) Tad (D) THaTar
What Is the type of rainfall that occurs in Tamil Nadu during winter season ?

(A) Convectional (B) Anti cyclonic
(C) Mountainous (D) Cyclonic

@ﬁwﬁmﬁaaﬁq-mﬂammaﬁma?

(A) e YB) THTET MNATFZS
..(cf HIEA SRATFEES (D) TTEeH ATFETES
Which of the following gases does not cause greenhouse effect ?

(A) Methane (B) Carbon monoxide
(C) Carbon dioxide ' (D) Nitrous oxide
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w7 T (P LT 21 o
1 1 i 4% feht ® WA HTTH B A |

qrs. 7P A HIA ] FAT A

M @) e few g &, Dm0y v,y sifae (n) a4t 410
otfsraent (A) . wenaen sfean v osid, fapan i A0 senad 2 il
w () feioege, caneds sNE e s it g rjan .

. OO
.'II'III.II'j.rI et Py [15?‘?
N fau nuoagee oy ad) e ifqu, -

L I

() (A) e &, iy (f1) st e
m( (AY 30 (Y At s B e (i), (A) A ) Al Jéi ;"' i #
(C) (A) S (1) Al 1o sl (1), (A) S 1 d) Avnn AL 7
(D) (A) 3ttre B, e (R) 1774 . g ther an Rezoon (F).

Givan bolow nro lwo statormnants, ona 16 laballed ag ALLGHon ff':) ?I]II‘ILhr: j::pa; n'In ’ w‘; Selhi.
Assortion (A) @ Global India Al Surnmil vias recontly held ot Bhf:td o among the highe=t rate AT
Reason (N) : Singaporo, Danmark and United Statas of Arnerica are amontg ws

Indin's porformanco o ralatively slrong.

Solocl tho corroct anosweor from tho codo given holovs :
Codo :

(A) (A) s lruo, but (A) Is falso ' til
(B) Both (A) and (1) aro lrue, bul (R) is not the correct r:zplgnalmn of (A)
(C) Bolh (A) and (R) aro lruo and (R) is the correct ezplanation of (A)

(D) (A) s falso, but (R) is truo

el — 1 et — 1% 1y yifera £afso an g F 4 o F2 8 1 A ZHT AT, -

Tl ~ | el
(W) (A7)
a. @A ot faew . —== 1. faArea A
b. ke stefl - — 13§?fmf _
c. weran iy o — W. Z7R AT (1905 F 1907)
d. gL ME \V, AHZAT ATZAA
ETE

\#\/ﬂ b c d
Yy 7 7 1l

EIRE
e

(B) 1l I 1 IV
(C) W | I
o)y v I

Match List — | wilh List — Il and select the correct answer from the code given below the lists -
List-1 List -1l
(Orliginator) (Movement)
a. Bal Gangadhar Tilak I. Khilafat Movement
b. Shaukat Ali Il. 1857 Revolt
c. Mahatma Gandhi . Swadeshi Movement (1905 to 1907)
" d& Bahadur Shah IV. Non-Cooperation Movement
ode :

a b c d

(A I} 1Y Il
(8) I ! I IV
(Cy m v |
oy It v |

06O
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2z ) B=TEEE 3 ¥ SE F=0 3 26 2005 -

L7 (A e farsfaoes ﬁ'B;I,WH H 7
(©) FEIER. FER "‘:D) sfen i i g farataaTe
Wrich of the following institutions launched e-Gyankosh "2?%'“ favafagre™
(A) Atahabad University 'n the year 2005 ?

(C) IIT Kanpur

Ay VT One W % s
(AR) Stiw ': \‘B’/znﬂqa . =
(C) TSR IU Y )

In Union Budget 2025 — 26, the largest source of eaming | " Lo

(B) Goods and Services Tax

iy - Dl..mi - N (D) Customs Duty
55 sEE Siedl ® T i fafnt §

o . 2
EE% (A) ac a.cd A4BY H 2, b, d (C) ad b, ¢, d (D) %a« a, b, ¢
1 1athods of collection of primary data are

- (Case study method
. Mazil questionnaire method

c. Online resources

d. Schedule
Chocse the correct answer from the options given below : "
(A) Onlya.c.d (B) Onlya, b, d (C) Onlyb, ¢, d (D) Onlya,b,c

7o) TmEE SIEd =a4l |
w(p) =TT, fauTaet © gfa e @
(8) Eafrs, SIEUTES & Ui Iulerdl 2
ﬂmm,m%ﬁuﬁm:é

In Parliamentary form of Government
(A) Judiciary is responsible to legislature

(8) Legislature is responsible to eafecutive —
(C) Executive is responsible 10 legislature NG
fz:

(D) Executive is responsibie 10 judiciary

é SEaET T UHaiad g1 <l aﬁ <l & frefataa g ST %’ ® Mﬁafafaum be q’ﬁz
g b ) TeiEe T (C) CO,PIEAGHEA B VS
~4) FHlAH < e following possible affects, except

' has th
i I ~dance of greenhouse gases in the atmosphere has the ects, excep
-{:;E I$§$'gg;2;on (g) Global warming (C) CO, fertilization (D) Increase In biodiversity
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POLITICAL SCIENCE
@ Presferfaa N Aders Rraidi #) sweli wfiam 3 36 w1 @ 3 @ ha § Frafera i |
. TR = 3k Ruyes afus gema |
. =ITYTfeTeRT ! RIEHITHI T YUF FET |
Il. T 9RIET 1 TS |

Iv. FHaiE & fou fafg 397 swre |

A fou Tt fashedi § & @@t 39t @ g
(A) I, 11, 11l IV
ABY 1, 11, 1V, 1]
(C) IV, 1,1, |
(O) IV, I,
Arrange the following directive principles in order of their appearance in the Indian Constitution. |
l. Equal justice and free legal aid.
ll. Separation of judiciary from executive.
lli. Organization of village panchayats.
IV. Living wage, etc. for workers.

am Choose the correct answer from the options given below -
SlEE (A) 1,11, 111, 1V

(B) I, 1, IV, It
(C) IV, I, 11 |
(D) IV, 1, 111, I

918 not a Theorist of political devel ?
(A) Arendt Lijphart opment 4

(B) Joseph Lg Palombara
(C) Lucian Pye

(D) James Coleman -
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iz Lst—1w It =l and &8l e QM answer fmm e oodss __c;-\-entem\.

List-1l
(Related Thinkers)
L oJJ. Bocsseaun
Corpore POEXSO B, Machaven

BE. homas Hoobes

- =-l-:,_=, i\'q. - ‘h-t Ln.'.'.\'..'-"\e
—z morrast 2nswer from D2 ooCes goven below :

= b c d
(A) = r v i
E~ﬁl E i - iy
U:‘} i E"i' ) > 2
(D) = =] o i
Tail< ks . — =Ty : : A
. === TEEE T SR 1ISNTFTE® D A 5 S |
' A — - - L & - - - ,
\ - - - .i
._,Z’/ S ra~d b == Ce=r s 2=tE XS0 E‘ ]
- L e . -
- - - - i~
3 T =L =ETUST 21

S e 30 =S T SSLA O
-
___"".___..""..._‘ H:—:- -——"'"_'..._. — e
1= (2% < (GTT2 1 T Tal STl T =9 g
L™

c.d. e X(8) ¥a= a.c. d (C) &&= a.b.¢

Wnich of the following statements are comedt ?
The idzz of new public managament arose in mid-1830s.
Christooner Hood is one of its leading expenents.
I1 is 2 s:zncard prescription for ailing pudlic sector.
I is uncerninned by 3Es.
Max \Webar was precursor of new public management.
Chocse the corect answer from the cptions given below :

(A) c.d, ecnly (B) a.c.donly (C) a.b.conly

[ ]
&

C.
C.
e.

o990

(D) b, c,donly
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%ﬁf@amﬁﬁﬂﬁ?-m@m:ﬁﬁuﬁ%ﬁaﬁﬁﬁﬂ% ?
(A}uzmmaﬂtmﬁmﬁamﬁﬁmﬁ%

BT T8 YT 3 AT H1 S Fl 2
direct recruitment is not correct ?

[=] 2 (s] _ .
E\ﬁ Which of the following statements regarding
X (A) It brings new blood and fresh talent

(B) It broadens the area of recruitment
(C) Itisin accordance with the principles
(D) It widens the avenues of promotion

of democracy

(A Pl (B) _
' e % aear@uE ¥ I
(C) a3 arfiverfa @i w@qaa d{D) aa:alyo
| ing | liberal democracy N |
e b i (B) Right to organise political parties
under neutral agency

(A) Centralised planning :
1(C) Freedom of speech and expression QD] Elections

<ftd g’ eg H1 JII FAIAH foraa foran 7 o -
AY TS TE (B) HITHATH (c)sl’ﬁ?m%ﬂﬁq (D)3’*'5”3‘?"7[%:‘_6Fi
The term ‘Cold war' was first used by whom ?
(A) Bernard Baruch (B) Morgenthau (C) Professor Lipman (D) None of these
mﬁmmm%:wﬁmmaﬂx@ﬁﬁ(mmw%' ERE
mnfny:amaﬁﬁﬁﬁﬁ,m@zﬁmaamﬁa;mﬁqﬁmmu :é]a*‘g

aﬁ{n}:ﬁmaﬁﬁﬁ%ﬁﬁﬂwwﬁﬁwal
J@ﬁmﬁ%mﬁﬁmﬁ%ﬁﬁﬁﬁﬁwﬁmmmgﬁ:

v::))/m}a'e’l%'mj (R) TeTd &
(A) 37T (R) BT WE B 9T (R), (A) ! T& =TT TE B
(©) (A) 3 (R) T TE R 3 (R), (A) ! T8 TS B

(D) (A)TTeTd & TG (R) FEl 2
Given below are two statements : On
Assertion (A) : In Weberian formulation, bureaucracy is not to be confused with the

civil services.
Reason (R) : Weberian formulation has been characterised by value-neutrality.
In the light of the above, choose the correct answer from the options given below :

(A) (A) is correct but (R) is not correct
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(D) (A)is not correct but (R) is correct

e is labelled as Assertion (A) and other is labelled as Reason (R).

o100 a4
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R T T e ) B 3 T % w0 g wae HA A

e 3 U FEEE €9 Tty

P 7 | )
(A) @Te T faeTen ey e ;gq
- > A tely manifest itself in a state of itg
Who defined nation as ‘a community of sentiment which would adequa ely
own 7’ |
(A) Bal Gangadhar Tilak (B) Amhwybc:fdens
(C) Deendayal Upadhyay (D) Max We
§ } H-u1 §9 ol dan A & wei T 7
a1l 1 iR (8) dar=d
(C) Wi (D) FFIEA gadl ﬁm‘ ;
ublic Service Commission

Which of the following does not concemn the Union =
(A) Classification of services =
(D) Disciplinary matter

(C) Recruitment

' - ‘ £ fgwrfcn 1 A1 ?
Prafrfaa 3 @ S~ affy 3w § 3@ (O) 7T {M)aﬂa'-l%hﬁnfw
) Togerd! wid

Y afd
o (D) TRETET gt

41C) anfeis =it | |
Which of the following Committee recommended for creating O and M orgaru-s
(B) The Appleby Committee

(A) Santhanam Committee _
(C) The Economic Committee (D) Gorawala Committee

@-laﬁ@-ll%mﬂgﬁﬁaﬁﬁqaﬂtﬁ&qwfﬁﬁﬁaﬁmmwzﬁﬁg|
ERE T - |

(B) Promotion

ation in India 7

= -
e a _ﬁ:qﬁqq'q Q'Tg 3{“ m . Hﬁﬁﬁl
b. ¢ 3TH | . Uq. dlegsd
c. 99, T BT U3 a1 . amaﬁﬁl%a
d. 37fTEA Iv. 1. Shehe
= . b c d
A | v ) |
B 1 v - | I
" IV | i I
D I | 1] IV ERE
Match List — | with List — || and select the correct answer from the codes given below. Tﬁ-&g’
List - List -1l =75
(Books) (Author/ Editor)
a. Neo-realism and its Critics . Kautilya
b. Roots of Realism l. K. N.Waltz
g. Man, The State and War : I1l. R. Q. Keohane
. Arthashastra
D | V. B. Frankel
a b c d
(A) | IV i I
(B; I IV | !
(C IV Il 1] I
(D) | [ Il \Y
0120 L
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mRE Empirical mode of comparative research was intro
Dig;E comparative politics ?

(&7 T
(A) Behaviouralism
(C) Neo-statism

,ﬁﬂﬁi’@ﬁﬁﬁaﬁq-mwmé ?
a. HEATT FAET F1 THw s wurii % gan |
b. Wmmﬁmmaﬁ@mwmmml
ﬁmééuﬁﬁqm,aﬁwrﬂaﬂtama?ﬁeﬁgﬁiﬂ%|
_ d-38H T B HE IS FO3 B wem w5 wmie 2 |
e. g0 WIMEA H 50 g}a@;ﬁg@mmﬂ-%l
A2 feu e faeqi 9 @ v s w1 v w5
A(A) F9¢ a,b,d, e (B) &a¢ b, ¢, d, e 2] %ad a, b, ¢, d X (D) %dd a, b, d

Which of the following statements are correct ?

duced by which of the following approaches 1o

lB) Neo-institutionalism
(D) Post-Behaviouralism

a. Welfare administration developed in industrial societies.

b. It sought to address social problems of industrial societies.
c. It deals with issues of poverty, sickness and other sufferings.
d. Itinvolves delivery of host of social services to people.

e. Private sector has no role in welfare administration.

Choose the correct answer from the options given below :

(A) a, b, d, eonly (B) b, c, d, eonly (C) a, b, c,donly (D) a, b, donly
(@ efafiad 3 § fava % Iaa ATGHAIG 6 THR PH-E B 7
1 sEifaeRTl STaEATe 3T JU-shITdHRl HTAHdTG | E‘%E‘E
2.ﬁanﬂmmzﬁmma,ﬁaaﬁaﬁﬁaﬂtwhwﬁamﬁﬁa O b
ﬁ%ﬁqmﬁmﬁﬁﬁaﬁmaﬁgﬁﬁ
Ky 1 3 22 (B) Hae 2 (C) e 1 (D) T 1 NAA 2

Which of the following are the types of terrorism in the world 7

utionary terrorism and sub-revolutionary terrorism.
bio terrorism and eco-terrorsm only.

1. Revol
2 |deological terrorism,
Choose the correct answer from the options given below ! |

(A) Both 1 and 2 (B) 2 Only (C) 1 Only (D) Neither 1 nor 2
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? by, .
- .I ‘E.
@ wifamfam bﬁ?" :;;:]};ﬁ;

o wdeR ulaan wiag 1 b s 0 R qasd) &

o g aneN g i wera i) waegflaam a4 e ko
g NI A\

20, WU WIANE A g g we A i) et |
A PR s a0 s ql i el Al

5 fre Ras suurt & s dar @
e -
o Iﬁ% AN Ro o el A A W) Iu s il

P X

(A) Hael 2,3, 4 w0 et 1,2, 4
(D) Fae 3,45

(C) &aet 1,2, 3

Insert stom,
1. Budgetary procoss passos thr
2. It begins with proseniation of budgot in tho houso.

otigh corlain slgos in parliamont.

73. Budgetis passod aftor genoral discusslon on its provisions.
4. Appmpri'aﬂcm bill Is a part of gonoral budget.

5. Finance bill is a bill of laxation.

Choose tho corrocl answer from Ihe oplions glven below :
(B) 1,2, 4 only

(A) 2,3, 4 only
(C) 1,2, 3only (D) 3,4, 5only

mﬁﬁmmﬂim-mmwmﬁmam%mﬁmm 7

(A) FTel Wad

(B) TWTE gfEm
.La'/aﬂaﬁzmﬁm

(D) el ¥TRH

Which of the lollowing sociologists inspired Gabrie! Almond's work on struclural - functional analysis 7

(A) Karl Marx
(8) Emily Durkheim
(C) Talcott Parsons

(D) Karl Manheim

o140
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(1) Pt & @ ot i Jansll w1 et e
_a NRE™ ynEes dJan
d. IfEa widm =nfass Qe
e. ﬂﬂ‘cﬁﬂﬁﬁmﬁm

Hlaum A fopn mm 2 7

._.(A)/a.baﬂtc (B) a, c 3t d
(D) a,b3Te
R

Which of the following civil services are mentioned in the Constitution of India ?

a. Indian Administrative Service
b. Indian Forest Service

c. Indian Police Service
d. All India Judicial Service
e. Indian Foreign Service

Choose the correct answer from the options given below :

(A) a,bandc (B) a,candd
(C) aandc (D) a,bande
/t52,) HEleiEd & 8 SR-H & famur =1 0% 2 f5 mpmm i smumon ® aoifas figa @ g &
|IEY 7
~4) SrffETg (B) HcEEE ~NET aETaTE (D) TR
Which one of the following schools argue that the concept of sovereignty be removed from political theory ?
(A) Fascism (B) Idealism (C) Pluralism (D) Marxism
(%) ?@ﬁﬁ%éﬂﬁ@m%w%ﬂq—ﬂ S TR Srensi § a2 7
) FTTIE 55— 57 (B) Iq<g 52 - 54
(C) 3=B3¢ 50— 51 . (D) 39de ¥ forelt arq=e | 7€

Which of the following Articles are related to the regional arrangements in the charter of the United Nations
Organisations 7

(A) Articles 55 — 57 "~ (B) Aticles 52 — 54
(C) Articles 50 — 51 (D) None of the above Articles
@ frefafea o @ fva amam /@ &1 187 1964 1 g7 U1 7
(A) = F=Eu o . AB) U AHETYHR 3R
#{C) TSI TS GUR ST {BY H Telehdl TN
Which of the following commission/body was formed in 1964 7
(A) Central Bureau of Investigation | (B) National Human Rights Commission
(C) Administrative Reforms Commission (D) Central Vigilance Commission
Q150 a4
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G HETGE % TTEoa

Dﬁ-:' $13 fou o = § 8 FA TR T T3 F0 40, |

E’"‘?{? A 3 (D) 2. 2
(A) 1, 3 ¥ 4 e 1, 2 7 4 (C) 1. 2 . g to Amond ?

V/hich of the following are the characteristics of the Sysiem. a

1. Comprehensmveness
2. Interdependence
3. Existence of boundanes
4. Availabilty of resources
Select the correct answer from the codes given belovi.

Codes :
(A) 1. 3 and 4 (8) 1, 2 and 4 (c) 1, 2 and 3

s6. |Fefafar i s=-3 549992 7

&S & gATE qUR w4 A9a 2 |
b. =1, 1. aﬁr?ﬁ’rﬁﬁ%aﬁrﬁ%mﬁmﬁf&m“—mﬂ |

(D) 2, 3 and 4

Z a0 =l =T ""l?ﬁ?l‘:-ﬂcr =4 T'HG"_IE‘I#:-:"{T' =4l |
_y/ﬁagmaﬁ w3 T5Z g7 HER oA feE T 2 |

ﬁhmfﬁ?ﬁﬁﬁaﬁ-ﬁzmm FITaT ¢

‘f&);h‘Hﬂb.C.d F\_/fB)/‘ETE'?Ia,c,d
(C) == a.b, ¢ (D) 54 a,b, d

Which of the following statements are correct ?
a_ FElectoral reforms are much desired in India.

b. B. P. Jeevan Reddy Committee cpposed state funding of elections.
¢. Indrajit Gupta Committee supported state funding of elections.

d. Electoral reforms have now been accepted by Parliament.
Choose the correct answer from the options given below :
(A) b, c, donly (B) a, c,donly
(C) a, b, conly (D) a, b, donly

@ 9RA § fAered 592 %1 Wiy fa 99 9 T3 mar 4 7 of
=
The performance budget was introduced in India in the year 7
1968 L(B) 1964
{C) 1958 (D) 1978
o160
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zwgﬁmﬁ%mﬁﬁﬁmﬁaﬁiﬁﬁaﬁfwmmgﬁ:
~AT (A) 98l ® 904 (R) T 2

(B) (A) 3R (R) T &&l R W (R), (A) A Wl wqmay 7 2

(C) (A) IR (R) 3HI ®El R 3R (R), (A) 1 w8 = 2

(D) (A) TeTd 2 9% (R) Hel 2

: on (R).
Eﬂ"; - Given below are two statements : One is labelled as Assertion (A) and other IS labelled as Flea:;ne n(ts
925 Assertion (A) : Swadeshi, boycott and strike constituted core of Tilak's ideology dunng natnon.al *"*0: )
Reason(R)  : These ideas were later adopted by Ambedkar to pursue his goal of social justice.

In the light of the above, choose the correct answer from the options given below :
(A) (A)is correct but (R) is not correct

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(D) (A)is not correct but (R) is correct

ﬁmﬁmwﬁmmﬁﬁmm%?
(A) T, TS, Tl 3R T T R TAH @-9787 ) wqaia 9
(B) UM IR W T W T W-9a7 61 fa-mftg s
(C) UM &R W WA =-T84 H U T g
Md@aﬂtﬁmmmwﬁa wW-arEa 6 -y g

What is the system of governance in the Panchayati Raj set-up ?

(=)

L]

o),

(A) Four tier system of local self-government at the village, block, district and state
levels

(B) Two tier system of local self-government at the village and block levels
(C) Single tier structure of local self-government at the village level

(D) Three tier structure of local self-government at the village, block and district

levels
(=] 5[]
:@mmtﬁa'mﬁmaﬁmaﬁmmﬁm forea feam ar 2 EEZE
(4] SATSE ITEIT B (B) I UE, <t '
(C) FaTEETTed A& (D) Tafkar geag

Who among the following presented the concept
(A) Dwight Eisenhower

(C) Jawabharlal Nehru

of ‘Atom for Peace’ as a disarmament plan ?
.. (B) John F. Kennedy

.: — (D) Nikita Khruschey
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. - e = ir;b-;’r -
@ hnﬁwmmﬁaﬁwmﬁhméz-ﬁmwﬂ“ﬁ“’zi’
1. frzh 1f rEmTs F AT
2. "= = FfEgs T |
3w & e At 23 2 v T TS
| v Sl \MB' ol %C’ 1'2'nd'efArbd' e 19 of Indian Constiution,
Arrange the following freedoms in order of their appearance u

1. To practice any profession.
2. To form association or union. _
3. To reside or settle in any part of the territory of Indi2.

4. To assemble peaceably and vathout arms.

Choose the correct answer from the options given below : . (D) 4,2.3.1
(A) 2,4,1,3 (B) 4,3.2. 1 (c) 1.2.3

62/ FIeroAT HEHAL, 1962 F1 F4AY 2 e =
(A) WA 3T e = ATIE FAaE 5 (B) el 1 AT a1

Jey M- Hm [EaE (o)mﬁﬂﬁ'ﬂs <

Colombo agreement, 1962 is related 10

. z : ka
(A) Due to c#¥erence between Incia and S Lanka (B) Tamil problem in SN Lan
(D) None of the above

(C) India-China boarder dispute - _ .
- - — i — b, T 2 4
mﬁﬁmﬁzﬁﬁmﬁawaﬁt-mﬁmﬁﬂm@mmmﬂ P wEl s FIar |
frma =21 7 )
(D) . Hi. =3

(A) ETEHA (B) TF3 F=T Gy SIS

*Power in political context means power of man over mincs and actions of othe
(A) Hartman (B) Max Weber (C) Morgenthau

fr=siaiEa @ 8 S=-81 Ugaid ST SEEsd1 &5 faema T8 & ¢
:’LA)ﬁmqﬁza:ém‘rﬁam%ﬁ e

r men™. Who said this 7
(D) M. G. Smith

(C) T=9 3T §{&[ & Y[ & 78 Shls 5 =@l
[=]
(D) TIfEa &1 TaTFHI o CjAlc
Which one of the following is not a feature of Presidential form of government 7 E?ﬂ.;. =

(A) Limited powers of legislature

(B) Fixed tenure
(C) No difference between head of state and head of government

(D) Separation of power

Sy et T i srmunen Fretaen § & fre frawe gu o R 2

oy Rt mIE@ -(B) MA@ gER HO) T W A (D) ¥ & =i T
The concept of modem cadre party was given by which of the following thinkers ?
(A) Giovami sarton (B) Maurice Duverger (C) Rudd Koole (D) None of these
G180 44
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SHGIRRE LIRS E T o RN b
66 T
?ﬂmmﬁﬁm R =

EI“E]:'[LC) %. T=A=H (8) EB H. =
5’;55 Who called Indian federal system as 'Quasi /D) Tafas s

(A) Sir lvor Jennings -federal' ?

(C) K. Santhanam (B) K. C.Wheare
(D) Granville Aystin

I U e et | & I v i -
(A) T 1 3R 2 (B) e 2 oy T 1 ©) A 1T A2

Which of the following is /are the main aims of behaviourism, according to David Easton

1. The behavioural studies aim at th i
L e R |
building only. verification, use of techniques and mode

2. The quantification, systematisation. i ' iti [
' on, integration and reqularities are the main
elements of behavioural studies. ' .

Choose the correct answer from the options given below :

(A) Both 1 and 2 (B) Only 2 (C) Only 1 (D) Neither 1 nor2
IR A F1 H Te-vgfa fras w1 § gum =3 78 i 7
x(A) Tgatd 930 faemm Bf Tgafa AHEA
~(C) '{'I'E"Zlﬁl IS (D) trg:t:n"a THEA b
The “spoil system” became a dominant feature of the American civil services during the penod
President ?
(A) President Woodrow Wilson (B) President Jefferson
(C) President Washington (D) President Jackson

A wmEe W FEfafaa afufd = wd semes @ sareaa 1|
. 379 Hgal gmfa | 1929
. uet. un. Taae afufa | 22¢
L Sh. . %, wa gty 11980

V. 9. . 9IE G |
3 fou 7o Tl W & @ W g ¢

(A) 1, 11,10, 1V S(B) IV, L 11, |
ALC) 1,11, 10, IV BT IV, L ERE
qgrrange the following Committees on local government in chronological order. %Ez;ﬁ:

. Ashok Mehta Committee.
1l. L. M. Singhavi Committee.
1. G.V. K. Rao Committee.
IV. P. K. Thungan Committee.
Choose the correct answer from the options given below :

(A) L, 10, 10, WV (B) IV, 1L, 11, |
(C) I, I, I, IV ' (D) 1,1V, 11, 11
G190 44
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D)= 1= 2== - 1===2
S Smiom 2oz cwe tiziermerts
Statement — | - Arbediar befieved in netursl theory o fgHts,

Stztement — I - ~e warred 1o erorasine indeydh ity of fifts. e e

" Fie light of the zbove siztement, choose the corred arawes from the opfion gven DZOW -
Sizterert — | & rue bt siztoment -l is fzlzs

fﬂr Sigtemert — | 2ng sizternert —- W zee f2lze

_:"-:J‘:' SZhemertt — | 2nd sizéement —~ N z2re true
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@ mmﬂﬁmmiﬁﬁﬁﬁﬁqnﬁﬁmhﬁ:ﬁﬁ@wwm

fazidl we stemy o smaw wz@ f5m R 7 _ 43 HrEh
- W H'T?fr;ﬁl (D)

E]' T Who holds Ihat India's moral values also provided the basic lorc
"* of peaceful co-oxistence and unity in diversity ?

i~zeviski
(A) Margarol Fisher  (B) Makoto Kojima (C) Thorston Woj

@ A1t 2) Fum feu Mo @
oA — | 1 sz Afasil F ogfas fagm § favam &@ 4 |
woA — | : A sifusr fi sfa=sem o e 2 =wa 4 ,_
I9de Tl & e 0, it famedi 4 1 gatfus 37gE I 90

(D) Rajiv Sikri

(D) FYH — | 7TeTd @ fofg 97 - 11 aeg 2

Given below are two statements :

Statement - | : Ambedkar believed in naturat theory of rights.

Statement — Il : He wanted to emphasise indissolubility of rights. |

In the light of the above statement, choose the correct answer from the option ¢
(A) Statement - | is true but statement — |1 is false

(B) Both statement — | and statement — Il are false

(C) Both statement — | and statement — Il are true

(D) Statement - | is false but statement - |1 is true

YT — | : Tk TITET THN * A1 & U F 51 Th 99 2 |
HUF — || : IFSREH] VAT § ST oz e 3T=Iev i 38 IrE Fi 3K e 88 |
IY4F Fol F ATeirrs # Frefeiaa frsedi § § gaius I9gad I T -
) FUT -1 5 2 fhg FY7 - 11 Te7a 2
(B) T — | 3T YA - || THI Terd 2
(C) FYT — | 3N &> - (| ZHI T 2
(D) HYT — | A & fohrg 2 - 11 6 B

Given below are two statements :
Statement - | : Public administration is an instrument of realisation of the goals of
government.
Statement - Il ; In the eighteenth century German scholars felt interested in this branch
of academic enquiry.
In the light of the above, choose the correct answer from the options given below :

(A) Statement - | is true but statement - |l is false
(B) Both statement — | and statement - || are false
(C) Both statement — | and statement — 1l are true
(D) Statement — | is false but statement — Il is true

iven below -
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(A) feaves 3fd®
(B) LU TfTH
(C) &1 Al
APy TF. &Y, T

Who among the following has given the concept of “functional (oremanship” 7

(A) Lyndall Urwick
(B) Luther Gulick
(C) Henry Fayol
(D) F.W. Taylor

agerard) frgra (B) I g
(C) Igram! fogm (D) Tradard) g
Which theory of democracy accords high priority to political rights of citizens /|
(A) Pluralist theory (B) Elitist theory
(C) Liberal theory (D) Marxist theory
78/ frefafiaa suE @ fam it 3R o 97 903 |
1. Hﬁwammﬁﬁﬁﬁﬁmmmmmamufﬁrﬁ“ﬁ?ﬁ%aﬁs%mzﬁﬁﬁtﬁ
FEPid 2 |
2. mmmaaﬁﬁ@aﬁﬁmmﬁmﬁmmﬁmmm@aﬁ%
e Bral 2 |
E.'?El:ﬁ% a el § @ &t IW H1 T4 ST |
Ofger .
) 13 23 . (B) Faet 2
(C) Had 1 (0) TA 13T H 2

Consider the following statements and choose the correct one.

1. A no confidence motion does not involve disgrace or imputation of moral turpitude
but is only a disapproval of the government policy.

2. An impeachment motion will practically amount to the ruination of the President's
public career, if passed. -

Choose the correct answer from the options?given below :
(A) Both 1 and 2 (L) (B) 2 only
(C) 1 only | (D) Neither 1 nor 2
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(C) 2,.5and S
D) 1.3and 5

@wﬁmm I T GHRT
(C) TAIE Taxa & JUSKSYIHNT &7 510

(D) ST < I NAFFST w1 HAEIeT

The Marshall plan brought during the cold war was meant for
(A) Rebuilding economies of North American countries
(8) Rebuilding Westem European economies
(C) Building third World economies
(D) Construction of economies of African countries
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b e ardf — ~1I. el wad
" :'E'a . A
d. 73 Hdgm v, 2P Sremn
L T4
a b c d
(A) N | ! W
ACT I 1l | v
@) I I IV
QE Match List — | with List - Il and select the correct answer from the codes given below:
i List-| List - Il

a. Dictatorship of Proletariate - Gramsci
b. Communist Party II. Karl Marx
c. Hegemony I, Lenin

d. New working class V. Tom Botlomore

Codes :
a b C d
(A) I | [ v
(B) I | 1l IV
(C) 1 1l [ v
(D) Il | 1] IV

B dfRwdm fRu At F i s fRu R | ‘ \
oA — | : T8 wif4, ﬁm,wiﬁ@wmﬁramaﬁagﬁ%nmnaﬁ%u
m-un:ﬁm,mmmmwmtl
Mﬁ%mﬁﬁ&&qwﬁmxﬁﬁﬁaﬁmgﬁrﬁ:

(A) FYA — 1 T8 2 forg T - 11 TIeTA B
) 2l TR — 1 3 FUA — 1) A 2
FUA — | 3 FYF - || FE 2

(D) A - | 7Tera & fa] A — 11 WE ©

Given below are two statemenls about the
Statement — | : It is a policy of peace, friendship, peaceful co-

between power bIOCKS.
Statemment — Il : It opposes imperialism,
In the light of the above, choose the correct answer from the options given below :
(A) Statement | is true bul statement Il is false
(B) Both statement | and slatement |l are false

(C) Both statement | and statement Il are true
(D) Statement | is false but stalement Il is true

02490

foreign policy of India.
existence and bridge
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(he toatres of Now Pablic Adminlstration Includon
(- Clliont - tocusod administration,
o Poal o ponitivisam,

a4, Deobueauctatiantion,
1. Domoctatie doctsion-making.
H. Decontialisation of administrativo procoss,

Chooso tho conoct answor from tho oplions glvon bolow .
(A) 1, 3and < only (B) 1,2 and 3 only
(C) 1.2, 3, 4andbonly (D) 2, 3 and 5 only

C‘Q amlas i A R A T Y arenis e g 2 fsfefe 5
AT IR

i fam va 2o o AT

(A) SIREMRT -.....(m/ﬂ\?mam (C) I /(D) z==TfIfor -
Which ono of tho following countrios was nlso studiod by Almond and Veorba to evolve the idea of ‘Civic
Culture’ 7

(A) Argontina (B) Moxico (C) India (D) Indonesia

w) Pesfifa el wt R G 3 SRl e & gt dfsm | oTD
T e

| g ) s ogdd % w3 Py 80 aw enfiier 3 feru e @ ufvnfoa fr 2 o e
o wfRUE Y S SIRED B R X U ) ufenfoa @ fe 2 |

A Qv v fyemenl 1 @ Gl I HT T Hidm )

(&) ol 2 QA B) ¥ 2

(C) el 1 - (D) A 1M E 2

Consider the following statoments and indicate the incorrect one,
1 Constitution has defined the qualification for a person 10 be appointed as the Election

Commissioner.
2  Constitution has not defined the grounds for removal of the Election Commissioner.

Choose the correct answer from the options given below :

(A) Both 1 and 2 (B) 2 only
(C) 1 only o (D) Neither 1 nor 2

0250 44

(% Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap

Addaz47

it

GET IT ON
Google Play

,@ Gsatfeleza 3 A a3 smrenfermat & a)a-a &l 8 7
v aua aa faferE s mitfezfaR s A geEdd

OMIC
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C(A) Q1 a2

o, wiggpfaa fpaaent 3N el @ warer
TEF a1l [f:l', nu faaeut 1 0 ull Jall T:lr;ﬁ] :

(D) Al 1375,

(B) %hae 2 (C) Fdel 1

Which of tho following Is/are the functions of municipalities in India 7

1. Rogulation of land usa and promotion of ecological aspecls.
2. Cultural activitios and running of indusiries.

Soloct tho correct answer from the options given below :

(A) Both 1 and 2

""\\

a. ayeiae

b, Ta-gyedare

C. JQREIq

d. ¥9-3q1Er]

E A

AL i g

v i i

MB)/‘i il
(C) ii i iv
(D) iii [ v

Match List — | with List — Il and select the correct answer from the codes given below.
List — | (Theory)

Realism
Neo-realism
Liberalism

ap oy

Codes :

a b -
(A) iv iii i
(B) i [ 10
(C) ii i v
(D) i i v

Neo-liberalism

(D) Neither 1 nor2

(B) Only 2 (C) Only 1

87,/ N - 13N G - 11 wifea AR i i fe e w2 A T8 I F FET FIT |
T -1 (frgia)

Tt — 1 (SoTan)
i, Wilg ST
i. TEles A9t
iii. Tg. 3. HIEAT
iv. @G‘l@q-? Tq. A%

d
i
v
iii
i
(=13 [=]

List — Il (Proponent) El#’
i. Fareed Zakaria
ii. Reinhold Niebuhr
iii. S. D. Krasner
iv. Joseph S. Nye Jr.

d
i
iv
il
Il

8./ <fdg $= h sHiias sraren St gear i guron Fefafed 4 | frm o A gm s A i i R

(A) T i

(C) itfas fagm

(B) =R fagm
DY SfF s

David Easton’s concept of persistence of the political system is originally derived from which of the followir

disciplines 7

(A) Social anthropology
(C) Physical sciences

- (B) .Communication sciences
\(B‘)/\ Biological sciences
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(A) Peace natonal interast 2

(C) Power (8) War

@) qETes1 M T j iy
mut s g (D) Protection of cultural un
: »14 ﬂwﬁﬂﬁmiﬁaﬁﬁm’h-ﬁmmﬁ?

ﬂzmﬁﬁﬂmwmml

-

ﬂmmmaﬁinﬂﬁqm
~e REHT SIIC I R Y Se—.

ﬁmmmﬁﬁmmmm;??ma l
*mﬂﬂ} aet c.d e 74B) Fad b.c,d X (C) FTA a b, Wm b, d, e

5 Which of Ihe following are corre
r+%* @, ltwas passed in 2006,
b. [t was brought into foree in 2006 only,

c. Itwas inllially implemented in 100 dislricts of the country

d. It secures 100 days of work per rural household, |

e. It aimed at eradication of poverty Irom rural areas.
Choose the correct answer from (he options given below ;

(A) c,.d, e iny (B} b.c.d Only (C) a.b,c Onl}' {D) b, d, e iny

THA) IFEY, THRE awen, amits wura, dufts sifuwn
(8) Y= fren, vl srwn, amits s, smAv
X(C) WA rawe, vy, s wara, Yafifs s

Jof ufis afimn, WTHIAE 3, gay, it qard

[dentify the correct sequence in the political philosophy of John Locke.
(A) Conlract, state ol nalure, civil society, natural rights

(B) Natural rights, state of nature, civil society, contract
(C) Stale of nature, contract, civil society, natural rights
(D) Natural rights, slate of nature, contract, civil society

ERE
X

¢t about Mahatma Gandhi National Rural Employment Guarantae Act 7

Ok
@ ﬁnf?—rﬁgaﬁﬁﬁmﬁmﬁgz—ﬁtﬁamaﬂmmﬁﬂmmm? ] A28

(A) ferag =t Wniar;ﬁqﬁ

c) frea wen (D) 3449 § | | |

gtv{fh?ch of the following leaders described the non-alignment movement as an International Hoax' 7
(A) Julius Nyerere -~ (B) Colonel Gaddafi
(C) Fidel Caslro (D) None of these
0270 44
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. . \ &
0 ) it e unenly @) e a8 efafean ¥ [Qaee et R WE::
v Pmalaaa ) i
A I R LT R TR
2 Saaaaadd malaaa
4 e RRagiaa |
AR e el 1Al 3o g e
(A} 2, 220 (M 1, 3904 (€C) 2aftta
The Indian Presidont’s Velo Powor s o combination of
1. Focket Voto.
. Absolute Veto.
3. Susponsine Voto,
4. Qualitied Voto.

Chooso the correct answer from the options alvon bolow :
(A) 2, 3and 4 (B8) 1,3 and (C) 2and D

(D)1, ¢ e

(D) 1,2andd

‘Q’:) Referila sy wlada wval o) wretun N ergleda Wi |
1. @ A0 (gl unalem)
2. WY viRAAws {999
3. SR we et
- 3. Wl e o
%ﬁﬁf&qwﬁm?ﬁﬁa{tmﬁgﬁﬂ:
LAY 1,2, 4,303 (B) 2, 4,133 (C) 1,3, 432

Arrange the following climate change conventions In chronologlenl ordor.

1. Rio de Janeiro (Earth Summit)

2. Kyoto Protocol
3. Copenhagen Conference

4. Bali Conference

A(D) 4,2, 330 1

Choose the correct answer from the oplions given below !
(A) 1,2, 4,and 3 (B) 2,4,1and 3 (C) 1,3,4and 2 (D) 4,2,3and 1
(@5 fFrafafea § & SR-w gw wd gafea 7 R 7 o
O _(A) 2fas $== - T RERAS Tl faega=
(B) 9 gy —— - =] AR 31T gt
(C) TR &=A - T WiAE e T
(D) TeW I —— ———— T T T Ui

' following pairs is incorrectly matched 7
ooy 7 The Structure of Scientific Revolution

8) Charies Mermmam —  New Aspect of Politics
(CJ Arthur Bentley The Process of Government
( Human Nature in politics

(D) Graham Wallas
0280 "

(A) David Easton
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73" Constituti |
utional amendment seeks 1o provide which of the following for Panchayati Raj mticene: ¥
1. Constitutional stalus

2. Financial autonomy

3. Empowerment of marginalised sections
4. Decentralised planning

Choose the correct answer from the options given below :

(A) 2,3and 4 (B) 1,2,3and 4
(C) 1,2and 3 (D) 1,2and 4

@&qm@maﬁmmgﬁﬂfﬂf@aaﬁmﬁmﬁaﬁl
1. FIEE=Z 9T 55 |
2. TMHFATA FH |

FZ:
(f7 4,.2,1,3 (B) 1,4,3,2 (C) 3,2, 4,1 (D) 2, 4,3, 1

Using the grven codes, arrange the following chronologically. FRE]

1. Keshavanand Bharti Case. [=] :=.;

2.  Golaknath Case.
3. Minerva Mills Case.
4. Sajjan Singh Case.

Codes :
(A) 4,2,1,3 (B) 1,4,3,2 (C) 3,2,4,1 (D) 2,4,3, 1
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DEELL 87 2 7 3
(C) 1772 (D) 4 #17 1

Wnho ameong the following do not support the integral view of administration ?
1. L D. V/nhite

2. Herbert Simon
3. Luther Gulick
4 F. M. Marx

Chocse the correct answer from the options given below :

(A) Sand 4 (B) 2and 3
(C) 1and 2 (D) 4 and 1
FETA o w1 999 S0
(#) TR v FR-Tatn T - #Lu@
4 (B) FT373 71 ATH AN - a2 mues
~/(C) TA7 THIZ - . 7z foem
12| T T S Urdciieic2al
Select the incormrect match :
(A) Governing and Non-goveming Elite - V. Pareto
(8) Iron Lzw of Oligarchy —~  Robert Michels
(C) Power Elite - C. Wright Mills
-  Gaetano Mosca

(D) Culture Industry

wmw,mmmmmmﬁMQ Tz giea fREA Q1 2 7
(4) 3. A, 5 7 of a3
(C) ATE TFZA (D) TH=ATd M

“p|ationalism is a way of corporate thinking, corporate feeling and corporate living.” Who has given this
definition ?

(A) J.S. Mill
(C) Lord Acton

(B) Zimmem

(D) Rabindranath Tagore
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